Station 1:

Name each polynomial by degree and number of terms.
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Station 2:

Simplify each expression.
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Station 2:

Simplify each expression.

10y (4m* = m?) + (5m* + m*) 1) (5x+ x*) = (35 + 42)

12) (547 4+ 30°) + (=12 4+ 5x + 6x%) 13) (4 + 357 +8x%) + (-7x° + 1257 + 6x7)

14) (13m* +2) + (m*n® + 2 = 2m*) = (<13m*n® + 5m*)



Station 3:

Multiply each polynomial
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Station 3:

Multiply each polynomial
17y (6k +5)(5k + 5)

19) {4a +2)6a® —a+2)

21) (172 = 6r - 6)(2r —4)

18) (3x —-4)(4x +3)
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20) (7~ 3)(i* - 2%+ 7)
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Station 4:

Multiply each polynomial
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Station 4:

Multiply each polynomial

7) (x-5NHx+5) 8) (n5)
9 (24 +1)° 10) (8a* +4)(8a" —4)
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Station 5:

Write each polynomisl in standard form. Then name each polynomial based
on its degree and number of terms.

1. 26 = + 4x 2, YV +3y+6-4-6y
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Station 5:

Write each polynomial in standard ferm. Then name each palynomial based
on its degree and number of terms.

1. 260 = + 4x 2. Y+ 3+ 6-4" -6y
3. 8—6w—12w—8w = T7=3n 4. 6 +3° -’ =4
Station 5:

Write each polynomial in standard form. Then name ¢ach polynomial based
on its degree and number of terms.

1. 2 =" + 4x 2. V+3p+6=-4y -6y

3. B—6w— 12w — 8w’ =7 = 3w 4. 6 +3x -7 = 4%



